Example #1 Calculations for FFR 

total grant award: $400,000

federal share: $300,000 fully obligated (record on line 10 d)
recipient share: $100,000 
total expenditures: $403,000

in-kind = $0

program income: $0

Calculations

adjusted net outlays = $403,000 (total expenditures)-$3,000 (excess allowable costs)=$400,000

fed share = $400,000 (adjusted net outlays)*75% (fed ratio) = $300,000 (record on line 10 e)

adjusted project costs =  $300,000 (total fed share) / 75% (fed ratio)= $400,000

recipient share required = $400,000 (adjusted project costs) - $300,000 (fed share) = $100,000 (record on line 10i)
recipient share = $403,000 (total expenditures) - $300,000 (fed share)= $103,000 (record on line 10 j)

Recipient Share
     $3000 (excess allowable costs)

$100,000 (recipient share required)
$103,000 (total recipient share) (10j)
Federal Share
$300,000 (federal share of adjusted outlays) (10e)
Cross-Check

$103,000 (recipient share) + $300,000 (federal share) = $403,000 (total expenditures)

Example #2 Calculations for FFR
total award = $400,000

fed funds authorized = $300,000 fully obligated (record on line 10 d)
recipient share required = $100,000 
total expenditure = $175,000

in-kind = $45,000

program income (deductive) = $100 (record Federal share of program income ($100 x 75% =$75) on line 10l and 10m
Calculations

total outlays = $175,000 (direct charges) + $45,000 (in-kind) = $220,000 
net outlays = $220,000 (total outlays) - $100 (program income) = $219,900
fed share of expenditures = $219,900 (net outlays) * 75% (fed share ratio) = $164,925 (record on line 10e)
adjusted project costs =  $164,925 (total fed share) / 75% (fed ratio)= $219,900

recipient share required = $400,000 (total award) - $300,000 (fed share auth) = $100,000 (record on line 10i)
recipient share of expenditures = $ 219,900 (net outlays)- $164,925 (fed share) + $25 (recipient share program income) = $55,000 (record on line 10j)
Recipient Share
 $54,975 (recipient share required)

        $25 (recipient share of program income)

$55,000 (total recipient share) (10j)
Federal Share
$164,925 (federal share of adjusted net outlays) (10e)
         $75 (federal share of program income) 10l and 10m
$165,000 (total federal share) 
Cross-Check

$55,000 (recipient share) + $165,000 (federal share) = $220,000 (total expenditures)

Example #3 Calculations for FFR
total award= $400,000

fed funds authorized = $300,000 fully obligated (record on line 10 d)
state share required = $100,000 
total expenditure= $435,000

in-kind= 0

program income (deductive) = $10,000 (record Federal share of program income ($10,000 x 75% = $7,500) on line 10 l and 10m)
Calculations

adjusted net outlays (deduct excess allowable costs) = $435,000 (direct charges) - $35,000 (excess allowable costs)  = $400,000  

adjusted net outlays (deduct program income) = $400,000 (adjust net outlays) - $10,000 (program income) = $390,000

federal share of expenditures = $390,000 (adjusted net outlays) * 75% (federal share ratio) = $292,500 (record on line 10 e)

adjusted project costs =  $292,500 (total fed share) / 75% (fed ratio)= $390,000

recipient share required = $400,000 (total award) - $300,000 (fed share) = $100,000 (record on line 10i)
recipient share of expenditures = ($400,000 (adjusted net outlays) - $10,000(federal program income) - $292,500 (federal share) =$ 97,500 + $35,000 (excess allowable costs) + $2,500 (recipient share program income) = $135,000 (record on line 10j)
Recipient Share
$35,000 (excess allowable costs)

$97,500 (recipient share of adjusted net outlays)

  $2,500 (recipient share of program income) 

$135,000 (total recipient share) (10j)
Federal Share
$292,500 (federal share of adjusted net outlays) (10e)
  $7,500 (federal share of program income) 10l and 10m
$300,000 (total federal share) 
Cross-Check

$135,000 (recipient share) + $300,000 (federal share) = $435,000 (total expenditures)
Example #4 Calculations for FFR
total award = $400,000

fed funds authorized = $300,000 fully obligated (record on line 10 d)
recipient share required = $100,000

total expenditures= $435,000

in-kind= 0

program income (additive) = $10,000 record Federal share of program income $10,000 x 75% = $7,500  (record on line 10 l and 10 n)
Calculations

adjusted net outlay = $435,000 (net outlays) – $25,000 (excess allowable costs) = $410,000
adjusted net outlays (deduct program income) = $410,000 (adjusted net outlays) - $10,000 (program income) = $400,000

fed share of expenditures = $400,000 (adjusted net outlays)  * 75% = $300,000 record on line 10 e
adjusted project costs =  $300,000 (total fed share obligated) / 75% (fed ratio)= $400,000
recipient share required = $400,000 (adjusted project costs) - $300,000 (fed share) = $100,000 (record on line 10i)
recipient share of expenditures = $ 400,000 (adjusted net outlays) - $300,000 (federal share of expenditures) + $25,000 (excess allowable costs) + $2,500 (recipient share of program income) = $127,500 (record on line 10j)
Recipient Share
$25,000 (excess allowable costs)

$100,000 (recipient share of adjusted net outlays)

  $2,500 (recipient share of program income) 

$127,500 (total recipient share) (10j)
Federal Share
$300,000 (federal share of adjusted net outlays) (10e)
  $7,500 (federal share of program income) 10l and 10m
$307,500 (total federal share) 
Cross-Check

$127,500 (recipient share) + $307,500 (federal share) = $435,000 (total expenditures)
Example #5 Calculations for FFR
total award = $400,000

fed funds authorized = $300,000    *only $200,000 fully obligated (record on line 10 d)   
recipient share required = $100,000

total expenditure= $310,000 (does not include in-kind)
in-kind= $100,000
program income (deductive) = $10,000 Federal share of program income = $10,000 x 75% = $7,500 (record on line 10 l and 10 m)
Calculations

adjusted total award= $200,000 (amount obligated) / 75% (federal ratio) = $266,666.66  
adjusted net outlays = 310,000 (total expenditures) + $100,000 (in-kind) = $410,000 
adjusted net outlays (deduct program income) = $410,000 - $10,000 (program income) = $400,000

excess allowable costs = $400,000 (adjusted net outlays) - $266,666.66 award =  $133,333.34
fed share of expenditures = $266,666.66 (total adjusted award) *75% (federal share of adjusted total award) 

= $200,000 (federal share of expenditures) -$7,500 (federal share of program income) = $192,500 (record on line 10e)

recipient share required =  $266,666.66 - $200,000 = $66,666.66 (record on line 10 i)

recipient share of expenditures = $74,166.66 (recipient share) + $133,333.34 (excess allowable costs) + $2,500 (recipient share of program income)  = $210,000 (record on line 10 j)
Recipient Share
$133,333.34 (excess allowable costs)

$74,166.66 (recipient share of adjusted net outlays)

  $2,500 (recipient share of program income) 

$210,000 (total recipient share) (10j)
Federal Share
$192,500 (federal share of adjusted net outlays) (10e)
  $7,500 (federal share of program income) 10l and 10m
$200,000 (total federal share) 
Cross-Check

$210,000 (recipient share) + $200,000 (federal share) = $410,000 (total expenditures)
Example #6 Calculations for FFR
total award = $400,000

fed funds authorized = $300,000    *only $200,000 obligated (record on line 10 d)   
recipient share required = $100,000

total expenditure= $310,000 (does not include in-kind)
in-kind= $100,000

program income (additive) = $10,000  record Federal share of program income ($10,000 x 75% = $7,500 (record on line 10 l and 10 n)
Calculations

adjusted total award= $200,000 / 75% = $266,666.66 
adjusted net outlay = 310,000 (total expenditures)+ $100,000 (in-kind) = $410,000 
excess allowable costs = $410,000 (adjusted net outlays) - $266,666.66 (adjusted total award)  - $10,000 (program income) =  $133,333.34 
fed share of expenditures = $266,666.66 *75% (fed ratio)= $200,000 (record on line 10e)

recipient share required =  $266,666.66 (adj net outlays) - $200,000 (fed share) = $66,666.66 (record on line 10 i)

recipient share of expenditures = $66,666.67 (recipient share required) + $133,333.34 (excess allowable) + $2,500 (recipient share of program income)  = $202,500.00 (record on line 10 j)
Recipient Share
$133,333.34 (excess allowable costs)

$66,666.66 (recipient share of adjusted net outlays)

  $2,500.00 (recipient share of program income) 

$202,500.00 (total recipient share) (10j)
Federal Share
$192,500 (federal share of adjusted net outlays) (10e)
  $7,500 (federal share of program income) 10l and 10m
$207,500 (total federal share) 
Cross-Check

$202,500 (recipient share) + $207,500 (federal share) = $410,000 (total expenditures)
Exercise #7 Calculations for FFR
total award = $400,000

fed funds authorized = $300,000 fully obligated (record on line 10 d)   
recipient share required = $100,000 (record on line 10i)
total expenditure= $150,000 (does not include in-kind)

in-kind= $95,000

program income (additive) = $10,000  record Federal share of program income ($10,000 x 75% = $7,500  (record on line 10 l and 10 n)
Calculations

adjusted net outlays = $150,000 (total expenditures) + $95,000 (in-kind) - $10,000 (program income) = $235,000 
fed share of expenditures = $235,000 (adjusted net outlays) *75% (fed share) = $176,250 (fed share cannot exceed total direct expenditures – grantees may not be reimbursed for in-kind contributions)  

* in this situation…fed share of expenditures  = $150,000 (total exp) - $10,000 (program income)  = $140,000 (record on line 10e)

adjusted project costs =  $140,000 (total fed share) / 75% (fed ratio)= $186,666.67

recipient share of expenditures = $235,000 (adjusted net outlays) - $140,000 (fed share) = $95,000 (record on line 10 j)
Recipient Share
 $95,000 (recipient share of adjusted net outlays)

  $2,500 (recipient share of program income)

$97,500 (total recipient share) (10j)
Federal Share
$140,000 (federal share of adjusted net outlays) (10e)
    $7,500 (federal share of program income) 10l and 10m
$147,500 (total federal share) 
Cross-Check

$147,500 (federal reimbursement) < $150,000 (total direct outlays)

$97,500 (recipient share) + $147,500 (federal share) = $245,000 (total expenditures)
Exercise #8 Calculations for FFR
total grant award: $400,000

federal award amount:  $300,000 fully obligated (record on line 10 d)   
recipient share:  $100,000  
period of award:  7/1/08 – 6/30/09

total expenditures: $435,000

disallowed costs from a recent OIG audit:  $10,000 (federal share)
program income: $0.00

In-kind: $0.00

Calculations

adjusted net outlays (excess allowable cost) = $435,000- $35,000 (excess allowable costs)= $400,000

adjusted net outlays (disallowed costs) = $400,00 - $10,000 (disallowed costs)= $390,000
fed share of expenditures = $400,000 (adjusted net expend) * 75% (fed ratio) - $10,000 (federal share of disallowed costs) = $290,000 (record on line 10e)
recipient share of expenditures= $435,000 (total expenditures) – $290,000 (fed share)= $145,000 (record on line 10j)
adjusted project costs =  $300,000 (total fed share) / 75% (fed ratio)= $400,000

recipient share required = $400,000 (adjusted project costs) - $300,000 (fed share) = $100,000 (record on line 10i)
Note 1: line 10h will have a $10,000 balance that reflect the payback of the fed share of disallowed costs of $10,000
Note 2: Enter the following statement in block 12 “Total expenditures includes an adjustment for disallowed costs in OIG Audit Report No. R-GR-FWS-XXX-YEAR, Finding X in the amount of $10,000.”

Recipient Share
 $100,000 (recipient share of adjusted net outlays)

  $35,000 (excess allowable costs)

  $10,000 (audit payback for disallowed costs)

$145,000 (total recipient share) (10j)
Federal Share
$290,000 (federal share of adjusted net outlays) 
$290,000 (total federal share) (10e)
Cross-Check

$145,000 (recipient share) + $290,000 (federal share) = $435,000 (total expenditures)
